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Simplify each expression.

D (7-a)-Ba+7) 2) (2b* +2b° + 6b) + (5b* = b)
3) (6n+ 51> = 7n*) — (8n% + 2n + 4n*) 4) (4x3 = 7x* +3x) = Bx+2x> + x*)
5 B+ +7x=x)+(2x2-8) 6) (6v2—8v+6—3v°)=(7Tv=3v*+20° = 7v?)

7) (7n2 —5n%) - (7 +nd- n) + (Sn3 + 3n2)

8) (2 +6x+6x*—3x)+(x*+x*+7x-8)—(3-5x>—3x+5x)

9) (3y4 - 2x2y2) — (8y4 - 2x2y2) 10) (5u3v +3u’ + 8ut?) + (8u4v2 +5u%)

11) (6ab® = b —6a’b) — (8b + 2ab> — 8a°b)
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12) 2x*y* +4x9* + 4x%) — (5x2y* — 6x7) + (Txy* + 3x2)

13) (3n +4n* = 3m*n* - 5m2n2) - (7 +5n* +m'*n - 8m2n2) + (6m4n3 —Tn—5m*n + 5m*n?)

Find each product.
14) 7n(n-5) 15) 7(3k—7)

16) (4x+5)(7x+1) 17) (6n* —3n+4)(8n+1)

18) (3m* + 3m + 8)(8m — 4) 19) —(4u +v)

20) 3(7x—4y) 21) (8a +2b)(=7a + 3b)

22) (3x+7y)(=Tx—y) 23) (8a® - Sab + b*)(~6a + 7b)

24y (7Tm? = 2mn — n?)? 25) (=5x% = 5xy — y*)(6x7 + Txy — y?)
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Simplify each expression.

D (7-a)-Ba+7) 2) 2b* +2b° + 6b) + (5b* = b)
—4a 7b* +2b° + 5b

3) (6n+ 51> = 7n*) — (8n% + 2n + 4n*) 4) (4x3 = 7x* +3x) = Bx+2x> + x*)
—11n* = 3n% + 4n —8x* + 253

5 B+ +7x=x)+(2x2-8) 6) (6v2—8v+6—3v°)=(7Tv=3v*+20° = 7v?)
X +9x*—x-5 vt =5 + 13V - 15v + 6

7) (7n2 —5n%) - (7 +nd- n) + (Sn3 + 3n2)

3+ 10n*+n-7

8) (2 +6x+6x*—3x)+(x*+x*+7x-8)—(3-5x>—3x+5x)

6x* +3x° = 3x* +16x— 11

9) (f’)y4 —2x%y?) - (8y4 —2x%y?) 10) (5u3v + 3u® + 8u*v?) + (8u*v? + 5u?)

—5y* 16u*v* + 5u’y + 8u®

11) (6ab® = b —6a’b) — (8b + 2ab> — 8a°b)
4ab® +2a°b — 9b
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12) (2x2y4 +4xy° + 4x%) - (5xzy4 - 6x%) + (7xy2 + 3x%)

“3x%yt + 11xy? + 1357

13) (3n+4n* = 3m*n* = 5m*n®) = (7 + 5n* + m*n — 8m*n?) + (6m*n® = 7n — 5m*n + 5m*n?)

Bmtnt +em*nd —emt*n+8m*n® —nt —4n-7

Find each product.
14) 7n(n - 5)
Tn* - 35n

16) (4x+5)(7x+1)
28x% +39x+5

18) (3m* + 3m + 8)(8m — 4)
24m> + 12m* + 52m - 32

20) 3(7x—4y)
21x—12y

22) (3x+7y)(-7x—y)
—21x* = 52xy — 7y?

24) (7Tm* = 2mn — n?)*

49m* — 10m*n® + n* = 28m°n + 4mn’
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15) 7(3k=7)
21k — 49

17) (6n* =3n+4)(8n+1)
48n° — 180> +29n + 4

19) —(4u +v)

—4u—v

21) (8a + 2b)(—=7a + 3b)
—56a’ + 10ab + 6b*

23) (84> — 5ab + b*)(—6a + 7b)
—48a> + 86a*b — 41ab* + 7b°

25) (—5x2 —Sxy— )}2)(6362 +7xy — yz)
—30x* — 65x°y — 36x7y* — 2xy° + y*



